[R—

00 =1 O L

i ARVIRG .

FRSL LIS F ISP N

WILDERNES

Jeep TJ Sidebars
Part # 34300

Parts List
2-TJ Sidebars(RT & LT)
2-10" Anti-Slip Strips
16-3/8 x 1 Self-Tapping Bolts
8-3/8 Flatwashers

Installation Instryctions

. With some help, position the sidebar on frame. The front pad should just touch the body bracket,

Adjust the sidebar up to the body, so you have about 3/4” from the bottom of the body, Clamp or
secure the sidebar to the frame for marking holes.

mark all 8 holes on the frame, then remove sidebar, use a small dril] first(3/16™) to drill into frame
then enlarge to 5/16"

Install all self-tapping bolts into frame(use oil or a tap cuiting oil. After threads are cut into frame,
remove the bolts and re-install sidebar.

If necessary, use the 3/8 flatwashers between the mounting pad and frume to leve] sidebar.

Align and tighten all hardware.

Install the anti-slip strip to the round tube.

For extreme duty, the mounting pads should be welded to the frame. Welding spots are shown on

page 2. The powder coating must be sanded off at weld points, and tonched up with paint after
welding.

¥

Page 1 of 2



WILDERNESS PRODUCTS 7o
TJ SIDEBARS —

PART # 34300 PAGE 1 OF 2

MOUNTS

; ==
f ' \ JEEP"""“"’f ' \ JEEP FRAME

3/8 X 1 SELF TAPPING BOLTS L
{ 6 PER SIDE )

© SIDEBAR 0
u i 1" WELTHNG POINTS ;ﬂfélNTING 3 0O
{ 3 ON EACH PAD )

PASSENGERS SIDE SHOWN

-3

o~
\
—




